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Code No. 4206 / CDE / E
FACULTY OF COMMERCE

M.Com (CDE) Final Examination, July 2018
Subject: Quantitative Techniques for Business Decisions

Paper – I (201)
Time: 3 Hours Max. Marks: 80
Note: This paper will be evaluated for 100 marks for the candidates not having

Internal Assignment.

PART – A (5x4 = 20 Marks)
[Short Answer Type]

Answer any Five questions in not exceeding 10 lines each.
Each question carries 5 marks.

1 a) What is Research Design? List out the various steps and briefly describe.
b) What are the sources for secondary data?
c) Explain additive theorem of probability.
d) What is Bayes theorem?
e) Explain Type-I and Type-II errors.
f) State properties of a good estimator.
g) State the applicability of large and small sampling techniques.
h) Write about non parametric tests.

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer All questions in not more than Four pages each.
Each question carries 12 marks.

2 a) Discuss the advantages of sampling over census method.
OR

b) Explain the applicability of various statistical techniques for managerial decisions.

3 a) A and B played 12 games of chess of which 6 games are won by A, 4 games are
won by B and 2 games end in tie. They are agree to play a tournament consisting
of 3 games. Find the probability that
i) A wins all the games
ii) Two games end in tie
iii) A and B win alternatively
iv) B wins atleast one game

OR
b) Below are given the number of vacancies of judges in a High Court over a period

of 96 years. From the following data fit a Poisson model.

No. of vacancies 0 1 2 3
No. of years 59 27 9 1

4 a) What is hypothesis and state the steps for testing of an hypothesis.
OR

b) Intelligence test for two groups of boys and girls gives the following results:

Girls: Mean = 84; S.D. = 10;  N = 121
Boys: Mean = 81; S.D. = 12;  N = 81
Examine:
i) Is the difference between means significant?
ii) Is the difference between standard deviations significant?
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5 a) The number of books borrowed from a library in a city is given below. Test the
hypothesis that the number of books borrowed does not depend upon the day of
the week.
Sunday – 140; Monday – 132;  Tuesday – 160;
Wednesday – 148; Thursday – 134; Friday - 150

OR
b) From the following results of a test, make out an analysis variance:

School
A B C D
8 12 18 13
10 11 12 9
12 9 6 12
8 14 6 16
7 4 8 15

6 a) Discuss the components and significance of decision tree analysis.
OR

b) The following is the pay-off matrix of a game played by A and B. Determine the
optimal strategies and the value of game.

A’s strategy B’s strategy
b1 b2

a1 8 -7
a2 -6 4
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Code No. 4206 / CDE / T
FACULTY OF COMMERCE

M. Com. (CDE) Final (YWS) Examination, July 2018

Paper – I : Quantitative Techniques for Business Decisions
Time : 3 Hours Max. Marks : 80

Note: This paper will evaluated for 100 marks for the candidates 
not having internal assignment.

¹ÖpÒ¦ =- U (5x4=20)
o ZÑª¬ ÀÖ¾È¨ OÀêô×Ö Y¬ªs ad³ýdâý{Ö¾Ñ ~ß¬ ~ßªæKÈ°10 Æ°ªkâ¾ ¿ßÀâÃé|Ö×âª ZÀÖÎâ°°Àâ°°.
1. (U) ~ßîµ¨|â×â Úmêô×Ò ´×âgÖ OÆ°? {Ö¾È¨ {âµâÈ×â° dâ[°~ßKªgÖ ÆÀâîªkâªÚ. 

(²) ¬]»Îâ°{âyÖªµâª Îê°°dâý Àâ°ÃéÈéÈ° yê¶Îâ° káÎâ°°Àâ°°.
(û) ¿ßªdâÈ×â (Additive) û{LÖªyÖ¾Q ÆÀâîª~ßóÀâ°°.
(Ú) ±áÎâ°¿Ï û{LÖªyâª ´×âgÖ×áÆ°?
(E) rêô~Ï – I  Àâ°îÎâ°° rêô~Ï - II {¨¤ÖÈ° 
(UÁÏ) Àâ°ªn ´ªkâ×Ö{Öpâ°¾ |âpÖWÈ×â° yêÈ°~ßóÀâ°°.
(Ê) ¿ßÃÖãâW Àâ°îÎâ°° ÈÁß°° Z~ß»¥kâÎâÃé×ÖÈ ~ß{âMyâ°È° ÀâpâKª~ßó¾ yêÈ°~ßóÀâ°°.
(ÝõékÒ) ×Ö×Ò ¹ÖpÖÀê°ZsdÒ ~ßî¥ãâÈ gâ°îªn ZÀÖÎâ°ªÚ.

¹ÖpÒ¦ =- ² (5x12=60)
o ZÑª¬ Z~ßµâQÈæ ×ÖÈ°gâ° ~öÊËÈæ Æ°ªkâæªvÖ mÀÖ±° ZÀÖÎâ°ªÚ.
2. (U) m×ÖÅÖ ~ß{âM» dâªrêá Z~ß»kâÎâÃé×ÖÈ ~ß{âM» Îê°°dâý Z~ßÎêÃém×ÖÈ×â° kâî+ªkâ°Àâ°°. 

Èá{Ö
   (²) ¾pâ]ÝßéÇ ~ßpâÀê°ô×â ¾pâJÎâÃéÈÈ¨ ÆÆ|â pâdÖÈ gâÇéªdâ ~ß{âMyâ°È ´×â°îKª~ßó×â° ÆÀâîª~ßóÀâ°°. 
3. (U) A Àâ°îÎâ°° B 12 ÉÖpâ[° kê¿Ï AvâgÖ, Apâ° ÉÖpâ[° ZvÖ´Ì°×â¬. E~ßóRvâ° Epâ°Àâópâ° dâÈû adâ 

 r¨pâQÀê°ªrÒÈ¨ 3 gáÀÒ°È° AÚ×ârê[÷Ì°yá, ¿ßªÅÖÀâXyâÈ×â° dâ×â°g³×â°Àâ°°.
(i) ´¾Q gáÀÒ°È° A gêÈ°¹åª{â°ræ 
(ii) pêªvâ° gáÀÒ°È° ZvÖy¨ Àâ°°ÐÎâ°°r×â° 
(iii) A Àâ°îÎâ°° B adâî yâpâ]yâ Àâ°p³dâpâ° gêÈ°kâ°r
(iv) dâ¾¥¿ßª B adâ gêÀÒ° ´Ì°×â gêÈ°kâ°ræ 

Èá{Ö
   (²) ¬gâ°Àâ 96 ¿ßªÀâyâbpÖÈÈ¨ adâ Ýõéô d¨pâ¦° ×âª{â°gâÈ mÚ¥@È fÖù¥È×â° ¾¥Îâ°vâÀê°ô×â¬. o {âyKÖªµÖ¾Ñ 

 ¹ÖÌ°¿ß×Ò ÆÅÖm×Ö¾Q ¾îWªkâªÚ. 
fÖù¥È ¿ßªfX 0 1 2 3

¿ßªÀâ°yâbpÖÈ° 59 27 9 1
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4. (U) Ýõéô¹è¼û¿Ï ´×âgÖ×áÆ° Àâ°îÎâ°° {Ö¾¥¾¥ ~ßî¥ãâªkâ°rÈ¨ gâÈ {âµâÈ×â° ÆÀâîª~ßóÀâ°°. 
Èá{Ö

   (²) pêªvâ° ¿ßÀâ°ÃéÝßëÈæ ¿ßª±ªºªn Z~ß»ÅÖ ¹ÖrÂ ÀÖÈ° ¬gâ°Àâ ¾¥Îâ°±Ú×âÆ.
±Ö¶dâÈ° : ¿ßgâr° = 84 ; Z¹ÖÀâÃé§dâ ÆkâÈ×âª = 10 ;  ¿ßªfX = 121 
±ÖÈ°pâ° : ¿ßgâr° = 81 ; Z¹ÖÀâÃé§dâ ÆkâÈ×âª = 12 ;  ¿ßªfX = 218
Z¹ÖÀâ°°fXyâ¾ ~ßî¥ãâªkâ°Àâ°° : (i) ¿ßgâr°È Àâ°{âX ÀâyÖXÉÖ¾¥Q 

    (ii) Z¹ÖÀâÃé§dâ ÆkâÈ×ÖÈ Àâ°{âX ÀâX»XÉÖ¾Q

5. (U) adâ ~ßr¦ÇªÈ¨ Zgâª|ÖÈÎâ°ª ×â°ªÚ ~ßó¿ßKdÖÈ×â° »¿ß°d³×â°ræ ¿ßª±ªºªn×â ÆÀâpÖÈ° 
¾¥Îâ°rÀê°ô×â¬. ~ßó¿ßKdÖÈ »¥¿ß°d³×â°ræ Àâ°îÎâ°° ÀÖpâªÈ¨ p³mäæ OÀê°ô×â ¿ßª±ª|âª dâÈ{Ö 
´×á Z~ßÀá°ÎâÃé¾Q ~ßî¥ã¡ªkâ°Àâ°°.

A¬ÀÖpâª – 140 ; ÉåÀâ°ÀÖpâª – 132 ;  Àâ°ªgâÔâÀÖpâª -160

±°{âÀÖpâª – 148 ; gâ°pâ°ÀÖpâª – 134 ;  µâ°ZdâÀÖpâª -150
Èá{Ö

   (²) ¬gâ°Àâ ~ßîãÖÁß¶yÖÈ {âyKÖªµÖ¾Ñ Ækâ×âÈ Æµá[ÍßÇ×â° káÎâ°°Àâ°°. (ANOVA {Ö]pÖ) 

¹ÖtâµÖÈÈ° 
A B C D
8 12 18 13

10 11 12 9
12 9 6 12
8 14 6 16
7 4 8 15

6. (U) vêûÍß×Ò Zr¡È¨ ×â°×âQ Àâ°ÃéÈdÖÈ° Àâ°îÎâ°° ÀÖ¾ Z¹ÖÀâ°°fXyâ×â° kâî+ªkâ°Àâ°°. 
Èá{Ö

    (²) ¬gâ°Àâ ¾¥Îâ°±Ú×â ~ö AÁÏ ÀâÃéZsdÒ A Àâ°îÎâ°° BÈ° AÚ×â gáÀÒ° A|ÖpâªgÖ 
        ´²ÈÍßÇ¡Îâ°Àê°ô×â ÀâòXÝßëÈ×â° Àâ°îÎâ°° gáÀÒ° ÆÈ°Àâ×â° dâ×â°g³×â°Àâ°°.

B ÀâòXÝßéª
A ÀâòXÝßéª

b1 b2

a1 8 -7
a2 -6 4

*****
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Code No. 4207 / CDE / E
FACULTY OF COMMERCE

M.Com. (CDE) Final Examination, July 2018
Subject : Human Resource Management & Industrial Relations

Paper – II (202)
Time: 3 Hours Max. Marks: 80
Note: This paper will be evaluated for 100 marks for the candidates not having

Internal Assignment.
PART – A (5x4 = 20 Marks)

[Short Answer Type]
Answer any Five of the following not exceeding 10 lines each.

Each question carries 5 marks.
1 a) State the scope of HRM

b) What is Manpower Planning?
c) What is job analysis?
d) What is fair wage?
e) State the need for training
f) What is labour turnover?
g) What is collective bargaining?
h) What do you mean by workers participation?

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer All questions in not more than three pages each.
Each question carries 12 marks.

2 a) Discuss the functions of HR Manager in a big organization.
OR

b) Explain the HRD strategies adopted by corporate entities in recent times.

3 a) Discuss the essentials for a sound wage structure.
OR

b) Explain the impact of globalization on employment opportunities.

4 a) Discuss the significance of human capital and human development.
OR

b) Explain the process for implementation of TQM.

5 a) Examine the structure and growth of Trade Unionism in India.
OR

b) Explain the impact of labour turnover and absenteeism on labour productivity.

6 a) Discuss the significance of collective bargaining in Indian Industrial Environment.
OR

b) Explain the salient features of various labour welfare measures.

****



OU - 
co

e 
 O

U - 
co

e

Code No. 4207 / T / CDE 
FACULTY OF COMMERCE

M. Com. (CDE) Final Examination, July 2018

Paper - II
Human Resource Management of Industiral Relations 

Time : 3 Hours Max. Marks : 80
Note: This paper will evaluated for 100 marks for the candidates 

not having internal assignment.
¹ÖpÒ¦ =- U (5x4=20)

o ZÑª¬ ÀÖ¾È¨ OÀêô×Ö Y¬ªs ad³ýdâý{Ö¾Ñ ~ß¬ ~ßªæKÈ°10 Æ°ªkâ¾ ¿ßÀâÃé|Ö×âª ZÀÖÎâ°°Àâ°°.
1. (U) HRM Îê°°dâý ~ßîº¾ ~öp³ý×â°Àâ°°?

(²) ÀâÃé×âÀâ µâÑK Z~ßÇéùdâ ´×âgÖ×áÆ°?
(û) I{¨Xgâ Æµá[ÍßÇ ´×âgÖ×áÆ°?
(Ú) ¿ßÀâ°°nyâ Àáyâ×âª ´×âgÖ×áÆ°?
(E) úãâÇ ´ÀâµâXdâyâ×â° yê¶Îâ°káÎâ°°Àâ°°
(UÁÏ) ZµÖÆ°dâ rp¨QÀâpÒ ´×âgÖ×áÆ°?
(Ê) ÉÖÀâ°Ãéþédâ ±ápâÀâÃévá µâÑK ´×âgÖ×áÆ° ?
(ÝõékÒ) dÖîWæÈ ÅÖgâÉÖ]Àâ°XÀâ°° ´×âgÖ×áÆ°?

¹ÖpÒ¦ =- ² (5x12=60)
o ZÑª¬ Z~ßµâQÈæ ×ÖÈ°gâ° ~öÊËÈæ Æ°ªkâæªvÖ mÀÖ±° ZÀÖÎâ°ªÚ.
2. (U) adâ ~õ{âM ¿ßª¿ßLÈ¨ HR Àá°×ámpÒ Îê°°dâý Æ|â°È×â° kâî+ªkâ°Àâ°°. 

Èá{Ö
   (²) EsÀâ¶¥ dÖÈªÈ¨ dÖp¨RpárÒ ¿ßª¿ßLÈ° ´×â°¿ßîªká HRD ÀâòXÝßëÈ×â° ÆÀâîª~ßóÀâ°°.
3. (U) Àâ°ªn Àáyâ×â ¾pÖWÇ Îê°°dâý AÀâµâXdâyâÈ×â° kâî+ªkâ°Àâ°°. 

Èá{Ö
   (²) I{¨Xgâ ´ÀâdÖµÖÈÈ¨ Z~ß~ßªn¥dâpâÇ Îê°°dâý Z~ßÅÖÀÖ¾Q ÆÀâîª~ßóÀâ°°. 

4. (U) ÀâÃé×âÀâ Àâ°ÃéÈ|â×âª Àâ°îÎâ°° ÀâÃé×âÀâ ´«Àâ½¬P Îê°°dâý ÆúÍßFyâ×â° kâî+ªkâ°Àâ°°.
Èá{Ö

   (²) TQM  ¿ßî¥ù ´Àâ°È° Æ|Ö×Ö¾Q ÆÀâîª~ßóÀâ°°.
5. (U) ÅÖpâyâ{áµâªÈ¨ dÖîWdâ ¿ßªÁßÃéÈ ¾pÖWÇª Àâ°îÎâ°° ´«Àâ½¬P¾ ¿ßÆ¥°ãðªkâ°Àâ°°.

Èá{Ö
   (²) ZµÖÆ°dâ IyÖR{âdâyâ ~õô dÖîWdâ rp¨QÀâpÒ Àâ°îÎâ°° gêôpâcmpÒ Îê°°dâý Z~ßÅÖÀÖ¾Q ÆÀâîª~ßóÀâ°°. 
6. (U) ÅÖpâyâ {áµâ Z¹ÖîZµÖÆ°dâ ÀÖyÖÀâpâÇªÈ¨ ÉÖÀâ°Ãéþédâ ±ápâÀâÃévá µâÑK Îê°°dâý ÆúÍßFyâ×â° kâî+ªkâ°Àâ°°.  

Èá{Ö
    (²) ZµÖÆ°dâ ¿ßªãáÀâ° dÖpâXZdâÀâ°°È Îê°°dâý Z~ßyáXdâ ÈãâÇéÈ×â° ÆÀâîª~ßóÀâ°°. =
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Code No. 4208 / CDE / E
FACULTY OF COMMERCE

M.Com. (CDE) Final Examination, July 2018
Subject: Strategic Management

Paper – III (203)
Time: 3 Hours Max. Marks: 80
Note: This paper will be evaluated for 100 marks for the candidates not having

Internal Assignment.
PART – A (5x4 = 20 Marks)

[Short Answer Type]
Answer any Five questions in not exceeding 10 lines each.

Each question carries 5 marks.
1 a) What is strategy? State its special features.

b) Distinguish between objectives and goals.
c) What is environmental scanning?
d) State reasons for mergers.
e) What is bench marking?
f) What is value chain analysis?
g) What is organization design?
h) What is operational control?

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer All questions in not more than three pages each.
Each question carries 12 marks.

2 a) Discuss different approaches for strategic decision making.
OR

b) Explain the role and importance of strategists in an organization.

3 a) Examine various elements in environmental analysis.
OR

b) Describe SWOT analysis in an organization with examples.

4 a) Discuss the process of strategic choice and its implementation.
OR

b) Explain the issued relating to generic competitive strategies.

5 a) Describe design and implementation of production strategies.
OR

b) Discuss the interrelationship strategy formulation and structure establishment.

6 a) Discuss the steps in strategic control.
OR

b) Examine the global issues in strategic management.

****



OU - 
co

e 
 O

U - 
co

e

Code No. 4208 / CDE/T
FACULTY OF COMMERCE

M. Com. (CDE) Final Examination, July 2018

Paper - III : Strategic Management 
Time : 3 Hours Max. Marks : 80

Note: This paper will evaluated for 100 marks for the candidates 
not having internal assignment.

¹ÖpÒ¦ =- U (5x4=20)
o ZÑª¬ ÀÖ¾È¨ OÀêô×Ö Y¬ªs ad³ýdâý{Ö¾Ñ ~ß¬ ~ßªæKÈ°10 Æ°ªkâ¾ ¿ßÀâÃé|Ö×âª ZÀÖÎâ°°Àâ°°.
1. (U) ÀâòXÝßéÀâ°° ´×âgÖ×áÆ°? {Ö¾ Z~ßyáXdâ ÈãâÇéÈ° yêÈ°~ßóÀâ°°

(²) I{áMµÖXÈ° Àâ°îÎâ°° ÈãÖXÈ Àâ°{âX ÀâX»XÉÖ¾Q ~öp³ý×â°Àâ°°.
(û) ~ßpÖXÀâpâÇ ¿ßÆ¥°ãâ ´×âgÖ×áÆ°?
(Ú) ¿ßª¶¥×âª dÖpâÇéÈ° ~öp³ý×â°Àâ°°
(E) ±êªkÒ ÀâÃéîýªgÒ ´×âgÖ×áÆ°?
(UÁÏ) ÆÈ°Àâ g¨È°¿ß° Æµá[ÍßÇ ´×âgÖ×áÆ°?
(Ê) ÀâXÀâ¿ßL pâÃé~ßdâÈR×â ´×âgÖ×áÆ°?
(ÝõékÒ) ¾pâ]ÝßéÇé (operational)¾¥Îâ°ªZyâÇ ´×âgÖ×áÆ°?

¹ÖpÒ¦ =- ² (5x12=60)
o ZÑª¬ Z~ßµâQÈæ ×ÖÈ°gâ° ~öÊËÈæ Æ°ªkâæªvÖ mÀÖ±° ZÀÖÎâ°ªÚ.
2. (U) ÀâòXÝßéyâWdâ ¾pâJÎâÃéÈ pâÃé~ßdâÈR×âÈ¨ gâÈ ÆÆ|â ÅÖÀâ×âÈ×â° kâî+ªkâ°Àâ°°. 

Èá{Ö
   (²) adâ ÀâXÀâ¿ßLÈ¨ ÀâòXÝßëyâWæ¾ Îê°°dâý ¹ÖZyâ Àâ°îÎâ°° Z¹ÖÀâ°°fXyâ×â° ÆÀâîª~ßóÀâ°°.
3. (U) ~ßpÖXÀâpâÇ (Evironmental) Æµá[ÍßÇÈ¨ gâÈ ÆÆ|â dÖpâdÖÈ×â° Æµá[¸ªkâ°Àâ°°. 

Èá{Ö
   (²) adâ ÀâXÀâ¿ßLÈ¨ SWOT Æµá[ÍßÇæ I{ÖÝßépâÇÈy¨ ÆÀâîª~ßóÀâ°°.

4. (U) ÀâXÝßëyâWdâ OªÄdâ Àâ°îÎâ°° {Ö¾ ´×â°ÀâîKª~ßó ¿ßpâù¾ kâî+ªkâ°Àâ°°.
Èá{Ö

   (²) m×âîdÒ ¹ès ÀâòXÝßëÈæ ¿ßª±ªºªn×â  ´ªµÖÈ×â° ÆÀâîª~ßóÀâ°°.
5. (U) IyâR»K ÀâòXÝßëÈæ ¿ßª±ªºªn×â pâÃé~ßdâÈR×â Àâ°îÎâ°° ´Àâ°È° Æ|Ö×Ö¾Q ÆÀâîª~ßóÀâ°°.

Èá{Ö
   (²) ÀâòXÝßëÈ dâÈR×â Àâ°îÎâ°° ¾îW» OpÖRr°æ Àâ°{âXgâÈ ¿ßÝßë¿ßª±ª|Ö¾Q kâî+ªkâ°Àâ°°. 
6. (U) ÀâòXÝßëÈ ¾Îâ°ªZyâÇÈ¨ gâÈ {âµâÈ×â° kâî+ªkâ°Àâ°°. 

Èá{Ö
    (²) ÀâòXÝßéyâWdâ ¾pâ]ÝßéÇÈÈ¨gâÈ g [̈±ÈÒ ´ª{ÖÈ×â° ¿ßÆ¥°ãðªkâ°Àâ°°.

*****
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Code No. 4209 / CDE / E
FACULTY OF COMMERCE

M.Com (CDE) Final Examination, July 2018
Subject: Cost Accounting and Control

Paper – IV (204)
Time: 3 Hours Max. Marks: 80
Note: This paper will be evaluated for 100 marks for the candidates not having

Internal Assignment.
PART – A (5x4 = 20 Marks)

[Short Answer Type]
Answer any Five questions in not exceeding 10 lines each.

Each question carries 5 marks.
1 a) State the objectives of Cost Accounting.

b) What are the Cost Drivers?
c) State the assumptions of BE analysis
d) Zero Based Budgeting
e) State the need for uniform costing
f) From the following details, you are required to calculate

i) P/V ratio
ii) B E sales
iii) Which company is likely to earn greater profits in conditions of heavy demand

and low demand for the product?

Particulars X Ltd. Y Ltd.
Sales Rs. 3,00,000 3,00,000
(-) variable cost 2,40,000 2,00,000
Fixed cost 30,000 2,70,000 70,000 2,70,000

Profit 30,000 30,000
g) State the objectives of standard costing.
h) State the features of profit centre.

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer All questions in not more than Four pages each.
Each question carries 12 marks.

2 a) Explain the advantages and limitations of Cost Accounting system.
OR

b) Journalize the following transactions assuming cost and financial accounts are
integrated:
Wages (30% indirect) Rs. 12,000
Materials purchases 20,000
Materials issued to production 15,000
Wages charged to production 9,500

..2
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3 a) From the following details, show the cost of three processes of manufacture.

Particulars Process
A B C

Materials and wages 30,400 12,000 29,250
Works overheads 5,600 5,250 6,000
Production units 36,000 35,000 34,000

Units introduced 37000, normal loss @5% at each process.  Normal loss of
process sold at @0.50 per unit.

OR
b) From the following details, find out

i) P/V ratio
ii) B / E sales
iii) Profit at an estimated sale of Rs. 1,25,000
iv) Sales required to earn a profit of Rs. 20,000.

Year Sales
Rs.

Profit
Rs.

2016 1,00,000 15,000
2017 1,20,000 23,000

4 a) Discuss the significance of responsibility accounting system.
OR

b) Explain various methods for determination of transfer pricing.

5 a) From the following details calculate relevant material variances.

Materials Standard Actual
Units Price Value Units Price Value

A 10 2 20 5 3 15
B 20 3 60 10 6 60
C 20 6 120 15 5 75

OR
b) Draw a flexible budget for overhed expenses on the basis of following data and

determine the overhead rate at 70%, 80% and 90% plant capacity:
Expenses 80% capacity level

Rs.
Variable overheads:

Indirect labour 12,000
Stores 4,000

Semi-variable overheads
Power (30% fixed) 20,000
Repairs (60% fixed) 2,000

Fixed overheads:
Depreciation 11,000
Insurance 3,000
Salaries 10,000

Estimated direct labour hours 124000.

6 a) Explain the advantages and limitations of inter firm comparison.
OR

b) Distinguish between Cost Audit and Financial Audit.
****
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Code No. 4209 / CDE / T
FACULTY OF COMMERCE

M. Com. (CDE) Final Examination, July 2018

Paper – IV : Cost Accounting and Control
Time : 3 Hours Max. Marks : 80

Note: This paper will evaluated for 100 marks for the candidates 
not having internal assignment.

¹ÖpÒ¦ =- U (5x4=20)
o ZÑª¬ ÀÖ¾È¨ OÀêô×Ö Y¬ªs ad³ýdâý{Ö¾Ñ ~ß¬ ~ßªæKÈ°10 Æ°ªkâ¾ ¿ßÀâÃé|Ö×âª ZÀÖÎâ°°Àâ°°.
1. (U) dÖ¿Ï¦ ´dñªsªgÒ Îê°°dâý I{áMµÖÈ×â° ~öp³ý×â°Àâ°°. 

(²) dÖ¿Ï¦ k¨|âdÖÈ×â° ~öp³ý×â°Àâ°°.
(û) ÈéÅâ×âÍßF pâþéyâ Æµá[ÍßÇ Z~ßÀá°ÎâÃéÈ×â° yêÈ°~ßóÀâ°°.
(Ú) ÊËp¨ ±á¿Ï ±vê@sªgÒ 
(E) Od¡dâ½yâ ÀâXÎâ°Æ|Ö×â~ßó AÀâµâXdâyâ ~öp³ý×â°Àâ°°.
(UÁÏ) ¬gâ°Àâ ÆÀâpÖÈ ×â°ªÚ, Æ¥s¾ dâ×â°g³×âªÚ. 

(i) Ä.Æ. ¾ÍßR»K  (ii) ÈéÅâ×âÍßFpâþéyâ ´Àâ°WdÖÈ  (iii) Àâ¿ßK°Àâó Îê°°dâý ÚÀâÃéªvÒ ´ºdâªgÖ 
Àâ°îÎâ°° yâæýÀâgÖ×â°×âQ~ßR°vâ° O dâª~õ¾¥ ´ºdâÈéÅÖ¾Q Aî@¿ßK°ª¬.

ÆÀâpÖÈ° X dâª~õ¾¥ Y dâª~õ¾¥
´Àâ°WdÖÈ° pâÃé. 3,00,000 3,00,000
(-) kâpâÀâXÎâÃéÈ° 2,40,000 2,00,000
ûLpâ ÀâXÎâÃéÈ° 30,000 2,70,000 70,000 2,70,000

ÈéÅâª 30,000 30,000
(Ê) Z¹ÖÀâÃé§dâ dÖû¦ªgÒ Îê°°dâý I{áMµÖÈ×â° ~öp³ý×â°Àâ°°. 
(ÝõékÒ) ÈéÅâ dáªZ¬¥ª Îê°°dâý ÈãâÇéÈ×â° yêÈ°~ßóÀâ°°. 

¹ÖpÒ¦ =- ² (5x12=60)
o ZÑª¬ Z~ßµâQÈæ ×ÖÈ°gâ° ~öÊËÈæ Æ°ªkâæªvÖ mÀÖ±° ZÀÖÎâ°ªÚ.

2. (U) dÖ¿Ï¦ ´dñªsªgÒ Æ|Ö×âª Îê°°dâý Z~ßÎêÃém×ÖÈ° Àâ°îÎâ°° ~ßîÆ°yâ°È×â° ÆÀâîª~ßóÀâ°°. 
Èá{Ö

   (²) dÖ¿Ï¦ ´dñªsªgÒ Àâ°îÎâ°° Z{âÀÖXyâWdâ ´dñªsªgÒ Od¡dâ½yâª ´Àâóyâ°ª¬ ÅÖÆªn ¬gâ°Àâ 
ÀâXÀâÝßëpÖÈæ nr¦é ~ß{âM°È×â° ZÀÖÎâ°°Àâ°°. 
Àáyâ×ÖÈ° (30 % ~ßp³ãâ) pâÃé 12,000
Àá°r¡îÎâ°ÈÒ d³×â°g¨È° 20,000
IyâR»KÑ méî¥ káû×â Àá°r¡î¥Îâ°ÈÒb 15,000
IyâR»KÑ kÖî¥@ káû×â Àáyâ×ÖÈ°  9,500

       ..2
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3. (U) ¬gâ°Àâ ÆÀâpÖÈ ×â°ªÚ, Z¹Ö¿õ¿Ï dÖ¿Ï¦ fÖyÖÈ×â° kâÃé~ßóÀâ°°.
Z¹Ö¿õ¿Ï ÆÀâpÖÈ° 

A B C
Àá°sî¥Îâ°ÈÒb Àâ°îÎâ°° Àáyâ×ÖÈ° 30,400 12,000 29,250
ÀâpÒýb eÀâpÒ ÝõévÒb 5,600 5,250 6,000
IyâR»K Îâ°Ãé¾r[° 36,000 37,500 48,000
1 m®Èêô ×Ös ¿ßpâ°æ ¾È] (Îâ°Ãé¾r[°) -- 4,000 16,500
31 m®Èêô ×Ös ¿ßpâ°æ ¾È] (Îâ°Ãé¾r[°) -- 1,000 5,500

Èá{Ö
   (²) ¬gâ°Àâ ÆÀâpÖÈ ×â°ªÚ ZÑª¬ ÀÖs¾ dâ×â°g³×â°Àâ°°. 

 (i) Ä.Æ. ¾ÍßR»K    (ii) ÈéÅâ×âÍßF pâþéyâ ´Àâ°WdÖÈ°  
(iii) ´ªkâ×ÖÀáû×â ´Àâ°WdÖÈ° pâÃé 125000 ´Ì°yá ÈéÅâª  
(iv) pâÃé 20,000 ÈéÅÖ¾Ñ dÖÀâÈû×â ´Àâ°WdÖÈ° 

¿ßªÀâyâbpâª ´Àâ°WdÖÈ° (pâÃé) ÈéÅâª (pâÃé)
2016 1,00,000 15,000
2017 1,20,000 23,000

4. (U) ÅÖ{âXyÖÎâ°°yâ ´dñªsªgÒ Æ|Ö×âª Îê°°dâý ÆúÍßFyâ×â° kâî+ªkâ°Àâ°°. 
Èá{Ö

   (²) Zré×ÒbÁßpÒ ZÁõôûªgÒ ¾pLÖpâÇÈ¨ ÆÆ|â ~ß{âMyâ°È×â° ÆÀâîªkâªÚ. 

5. (U) ¬gâ°Àâ ÆÀâpÖÈ A|ÖpâªgÖ yâgâ° ÀêÃésî¥Îâ°ÈÒb ÆÀâkâpâÇÈ×â° dâ×â°g³×â°Àâ°°.

Z¹ÖÀâÃé§dâyâ ÀÖ¿ßKÀâdâyâ Àê°sîÎâ°ÈÒ 
Îâ°Ãé¾r[° |âpâ ÆÈ°Àâ Îâ°Ãé¾r[° |âpâ ÆÈ°Àâ 

A 10 2 20 5 3 15
B 20 3 60 10 6 60
C 20 6 120 15 5 75

Èá{Ö
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   (²) ¬gâ°Àâ ÆÀâpÖÈ×â°ªÚ, 70%, 80%, Àâ°îÎâ°° 90% ¹[ÖªrÒ ÉÖÀâÃépLÖX¾Ñ eÀâpÒ ÝõévÒ pár°×â° 
 dâ×â°g³×â°ræ kâpâ ±vâ@rÒ×â° yâÎâÃépâ° káÎâ°°Àâ°°. 
 ÀâXÎâÃéÈ° 80% ÉÖÀâÃépâLXª (pâÃé)

kâpâ eÀâpÒ ÝõévÒb :
~ßp¨ãâ ZµÖÆ°dâ ÀâXÎâ°ª 12000
Éè¦pÒb  4000

¹Öãðdâ - kâpâ eÀâpÒ ÝõévÒb :
ÁßÀâpÒ (30% ¿ßLpâª) 20000
î~öpâ[° (60% ûLpâª)  2000

ûLpâ - eÀâpÒ ÝõévÒb :
yâpâ°gâ°{âÈ 11000

   ±¡ÀâÃé  3000
ÊËyÖÈ° 10000

´ªkâ×ÖÀáû×â Z~ßyâXãâ ZµÖÆ°dâ gâªrÈ° 124000

6. (U) ¿ßª¿ßLÈ Àâ°|âX yâ°È×ÖyâWdâyâ Æµá[ÍßÇ Îê°°dâý Z~ßÎêÃém×ÖÈ×â° Àâ°îÎâ°° ~ßîÆ°yâ°È×â° ÆÀâîª~ßóÀâ°°. 
Èá{Ö

    (²) dÖ¿Ï¦ AÚrÒ Àâ°îÎâ°° Áõô×Ö¾_Îâ°ÈÒ AÚr[ Àâ°|âX ÀâXyâXÉÖÈ×â° ÆÀâîª~ßóÀâ°°. 

*****
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PART – A (5x4 = 20 Marks)

[Short Answer Type]
Answer any Five questions in not exceeding 10 lines each.

Each question carries 5 marks.
1 a) What do you mean by Hindu Undivided Family?

b) Define taxable income.
c) Define partnership firm.
d) Explain the concept of net wealth.
e) Define sale under Central Sales Tax Act.
f) What is interstate trade?
g) What is meant by Permanent Account Number?
h) Define taxable service.

PART – B (5x12 = 60 Marks)
[Essay Answer Type]

Note: Answer All questions in not more than Four pages each.
Each question carries 12 marks.

2 a) Explain the assessment procedure in case of partition of a HUF.
OR

b) ‘A’ is the Karta of a H.U.F; the family consists of A and his two brothers B and C
as coparceners. The family and the coparceners have the following incomes and
investments for the year ending 31st March 2016.

Rs.
i) Salary of B as a manager of a company 71.64,000
ii) Investment on Government securities (investment made by

family) 1,20,000
iii) Rent received from house property 2,00,000
iv) Income from business 8,37,400
v) Income from profession as Lawyer carried on by C 4,00,000
vi) Income from shares in Indian Companies 1,52,000
vii) Share in profit from a partnership firm assessed as such 1,80,000
viii)Interest on investments made out of A’s wife such Stridhan                  90,000
Compute taxable income of HUF for the assessment year 2016-2017.

3 Given below is the Profit and Loss account of Modern Company Ltd.
a) An Indian company carries on business in motor transportation. Its Profit and

Loss Account for the relevant previous year shows a net profit of Rs. 3,80,000.
Find out the total income of the company after taking into consideration the
following particulars.
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The Profit and Loss Account was debited with the following expenses:

i) Rs. 2,50,000 as depreciation
ii) Rs. 18,750 as bad debt reserve
iii) Rs. 10,000 spent to obtain a new license and the company was able to get it
iv) The engine of a very old bus was replaced by a new one by spending

Rs. 60,000

The Profit and Loss Account was found credited with the following:
i) Agricultural receipts of Rs. 65,000
ii) Rs. 7,900 received as interest from an Indian Company on its debentures.
iii) Sale proceeds of old tyres etc. Rs. 2,000
iv) Capital gain on sale of motor car Rs. 20,000 (short-term)

As per the rates applicable in the current year, the amount of depreciation comes
to Rs. 1,65,000.

OR
b) Mr. Murali is a resident in India and also a citizen of India. He furnishes the

following particulars of his assets and debts.
Assets Rs.

i) Residential house in Guntur 2,00,00,000
ii) Residential house in Vijayawada 3,00,00,000
iii) Bank balance 5,00,000
iv) Cash in hand 10,00,000
v) Cars for personal use 10,00,000
vi) Agricultural land in village 5,00,000

1) Loans taken for purchase of Vijayawada house 20,00,000
2) Loans taken for purchase of cars 3,00,000

Compute taxable wealth for the current assessment year.

4 a) Write about the procedure of levy and collection of CST.
OR

b) X, a dealer in Delhi, makes inter-state sale of goods (other than declared goods)
to the following:

Buyer
Local tax rate

under Delhi Sates
Tax Act

Y Nil
Z 1.5%
A 3%
B 4%
C 6%
D 9%
E 14%
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What is the Central Sales Tax rate, if:
i) The buyers are registered dealers and issue C form
ii) The buyers are Government Department and issue D form
iii) The buyers are not registered dealers and goods are not declared goods.

5 a) What do you mean by reassessment? State the provisions of the act relating to
reassessment.

OR
b) What are the circumstances in which a claim for refund of tax may arise?

Describe the process for claiming refund.

6 a) What is excise duty? Explain the different kinds of excise duty.
OR

b) What are taxable services? List any three services subjected to service tax with
examples.

****
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¹ÖpÒ¦ =- U (5x4=20)
o ZÑª¬ ÀÖ¾È¨ OÀêô×Ö Y¬ªs ad³ýdâý{Ö¾Ñ ~ß¬ ~ßªæKÈ°10 Æ°ªkâ¾ ¿ßÀâÃé|Ö×âª ZÀÖÎâ°°Àâ°°.
1. (U) þéª{â°Ö ´ÆÅâdâK ær°ª±Àâ°° ´×âgÖOÆ°? 

(²) ~ß×â°Q Æºª~ß {âÐ×â A{ÖÎâÃé¾Q ¾pâ]nªkâªÚ
(û) ÅÖgâÉÖ]Àâ°X ¿ßª¿ßLæ ¾pâ]nªkâªÚ. 
(Ú) ¾dâpâ ¿ßª~ß{â ÅÖÀâ×â×â° ÆÀâîª~ßóÀâ°°
(E) dáªZ{â ´Àâ°WdÖÈ kâr¦Àâ°° ZÑª{â '´Àâ°WdâÀâ°°'×â° ¾pâ]nªkâ°Àâ°°
(UÁÏ) ´ªyâpÒ pÖçÍß¦= ´Àâ°WdÖÈ° ´×âgÖ×áÆ°?
(Ê) µÖµâ]yâ fÖyÖ ¿ßªfX (PAN) ´×âgÖ×áÆ°?
(ÝõékÒ) ~ß×â°Q Æºª~ß{âgâ$ ¿öÀâ×â° ¾pâ]nªkâªÚ. 

¹ÖpÒ¦ =- ² (5x12=60)
o ZÑª¬ Z~ßµâQÈæ ×ÖÈ°gâ° ~öÊËÈæ Æ°ªkâæªvÖ mÀÖ±° ZÀÖÎâ°ªÚ.
2. (U) þéª{âÃé ´ÆÅâdâK ær°ª±Àâ°° Îê°°dâý ÆÅâm×â ¿ßª{âpâVÀâ°°È¨ ´¿õ¿ÏÀê°ªrÒ ~ß{âP»¾ ÆÀâîªkâªÚ. 

Èá{Ö
   (²) adâ þéª{âÃé ´ÆÅâdâK ær°ª±Àâ°°È¨ dâpâK A Àâ°îÎâ°° AÎâ°×â E{âMpâ° Éè{âpâ°È° B, CÈ° ¿ßÝßé 

 ÅÖgâÉÖ]Àâ°°È° ÀâÃéî+ 31, 2016y¨ ´ªyâÀâ°Îá°X ¿ßªÀâyâbpÖ¾Ñ, ær°ª±ª, ¿ßÝßë ÅÖgâÉÖ]Àâ°°È 
    A{ÖÎâ°ª ~õr¦°±vâ°È° o ZÑª¬ Æ|âÀâ°ÃgÖ I×ÖQÌ°.

  pâÃé
(i) dâª~õ¾¥ Àá°×ámpâ°gÖ B ÊËyâÀâ°°               71,64,000
(ii) Z~ßÅâ°yâ] ¿õæÖXîr¡È ~õô ÀâÚ¥G 
    (ær°ª±ª ~õr¦°±Ú ~õr¦ª¬) 1,20,000
(iii) gâ½ÝßëûL ×â°ªÚ ´{êM 2,00,000
(iv) ÀÖX¹Öpâª ×â°ªÚ A{ÖÎâ°ª 8,37,400
(v) ÈéÎâ°pâ°gÖ Àâ½»K ×â°ªÚ C A{ÖÎâ°ª 4,00,000
(vi) ÅÖpâyâ dâª~õ¾¥ÈÈ¨ ÀÖréÈ ×â°ªÚ A{ÖÎâ°ª 1,52,000
(vii) ¿ßßª¿ßL ´¿õ¿Ï ká¿ö ÅÖgâÉÖ]Àâ°X ¿ßª¿ßLÈ¨ÈéÅâªÈ¨ ÅÖgâª 1,80,000
(viii) A ÅÖpâX=çû©K= |â×âª ×â°ªÚ káû×â ~õr¦°±vâ°È ~õô ÀâÚ¥G   90,000

        ¿ßª±ªºªkð×â ~ß×â°Q ¾pLÖpâÇ ¿ßªÀâyâbpÖ¾Ñ HUF ~ß×â°Q Æºª~ß{âgâ$ A{ÖÎâ°ª×â° ÈêÑýªkâªÚ.   
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3. (U) adâ ÅÖpâyâ dâª~õ¾¥ ÀêÃérépâ° pâÀÖÇé ÀÖX¹Öpâª ká¿ßK°×âQ¬. ¿ßª±ªºyâ gâyâ ¿ßªÀâyâbpÖ¾Ñ 
 A dâª~õ¾¥ ÈéÅâ×âÍß¦fÖyÖ pâÃé 3,80,650. ¾dâpâ ÈéÅâª kâÃéÄª¬. o ZÑª¬ ÆÀâpÖÈ×â° 
 ~ßîgâÇ×âÈ¨¾ »¥¿ß°d³¾ dâª~õ¾¥ Àê°°yâKª A{ÖÎâ°ª ÈêÑýªkâªÚ. 
ÈéÅâ×âÍß¦fÖyÖ×â° o ZÑª¬ fpâ°+Èy¨ vê²rÒ káµÖpâ° 
(i) yâpâ°gâ°{âÈ pâÃé 2,50,000 
(ii) pÖ¾±Öd¡È împâ°] pâÃé 18,750
(iii) d³yâ Èêô¿õ×Òb ¹åª{âré¾Ñ fpâ°+ pâÃé 10,000 Èêô¿õ×Òb ¹åª¬ª¬ 
(iv) adâ kÖÈé ¹Öyâ ±¿ß°b Eªm×â°×â° ÀâÃéî+ d³yâK Eªm×â° ÀáÎâ°ré¾Ñ 
    pâÃé 60,000 fpâ°+káµÖpâ° 
ÈéÅâ×âÍß¦fÖyÖ×â° o ZÑª¬ fpâ°+Èy¨ vê²rÒ káµÖpâ° 
(i) ÀâXÀâÉÖÎâ° pÖ±vâ°È° pâÃé 65,000 
(ii) adâ ÅÖpâyâ dâª~õ¾¥ Ú±êªkâpâ[ ~õô Àân+×â ÀâÚ¥G pâÃé 7,900
(iii) ¹Öyâ rêôpâ[ ´Àâ°WdÖÈ° pâÃé 2,000
(iv)Â Àê°Örpâ° dÖpâ° ´Àâ°Wdâª ~õô Àâ°ÃéÈ|â×â È²L pâÃé 20,000(¿ß]ÈR dÖÈª)
Z~ß¿ßK°yâ ¿ßªÀâyâbpÖ¾Ñ ´×â°ÀâîKªká pár[ Z~ßdÖpâª yâpâ°gâ°{âÈ pâÃé 1,65,000

Èá{Ö
   (²) ÞÀâ°°pâù¥ ÅÖpâ»Îâ° ¹ìpâ°vâ° Àâ°îÎâ°° ¾ÀÖû. ´yâvâ° ZÑª¬ A¿ßK°È° Àâ°îÎâ°° ±°°ÇéÈ ÆÀâpÖÈ×â° 

 ´ª¬¿ßK°×ÖQvâ°. 
A¿ßK°È° pâÃé 

(i) gâ°ªrÃépâ°È¨ ¾ÀÖ¿ß gâ½Ýßéª 2,00,00,000
(ii) ÆmÎâ°ÀÖvâÈ¨ ¾ÀÖ¿ß gâ½Ýßéª 3,00,00,000
(iii) ±ÖXªæ ¾È]    5,00,000
(iv) ká»È¨ ×âgâ{â°   10,00,000
(v) ÉåªyâÀÖvâdÖ¾Ñ dÖpâ[°   10,00,000
(vi) ZgÖÀâ°ªÈ¨ ÀâXÀâÉÖÎâ° ÅâÃéÆ°    5,00,000

±Öd¡ I×âQ ±°°ÇéÈ° :
(1) ÆmÎâ°ÀÖvâ gâ½Ýßéª d³×â°g³È°dêô pâÃé 20,00,000
(2) dÖpâ[ d³×â°g¨È° dêô      3,00,000 

~ß×â°Q Æºª~ß{âgâ° ¾dâpâ ¿ßª~ß{â×â° Z~ß¿ßK°yâ ~ß×â°Q ¾pLÖpâÇ ¿ßªÀâyâbpÖ¾Ñ Èêdâý dâs¦ªÚ. 
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4. (U) dáªZ{â ´Àâ°Wdâ~ßó ~ß×â°QÈêÆ¥ Àâ°îÎâ°° ¿ödâpâÇ ~ß{âL»¾ ÆÀâîªkâªÚ. 
Èá{Ö

   (²) Û¶¥[È¨¾ adâ Ú¥Èpâ° X o ¬gâ°Àâ ´ªyâpÒ pÖçÍß¦= ´Àâ°WdÖÈ° káµÖvâ° (Z~ßdâsyâ ¿ßpâ°æÈ° dÖæªvâ)
d³×â°d¨È°{Öpâ°vâ° Û¶¥[´Àâ°Wdâª ~ß×â°Q kâr¦ Z~ßdÖpâ° ÉLÖ¾dâ ~ß×â°Q pár°  

Y µâÃé×âXª
Z 1.5%
A 3%
B 4%
C 6%
D 9%
E 14%

o ¬gâ°Àâ ¿ßª{âpÖVÈÈ¨ dáªZ{â ´Àâ°Wdâ~ßó ~ß×â°Q Uªyâ?
(i) d³×â°g¨È° {Öpâ°È° ×âÀê°Ö¬yâ Ú¥Èpâ[°, ÀÖpâ° ' C' ~ßZyÖÈ° méî¥ káÉKÖpâ° 
(ii) d³×â°g¨È° {Öpâ°È° Z~ßÅâ°yâ] ÆÅÖgÖÈ°, ÀÖpâ° 'D' ~ßZyÖÈ° méî¥ káÉKÖpâ°.
(iii) d³×â°g¨È° {Öpâ°È° ×âÀê°Ö¬yâ Ú¥Èpâ[° dÖpâ°, ´Æ Z~ßdâsyâ ¿ßpâ°æÈ° dÖÀâó. 

5. (U) î¥ ´¿õ¿ÏÀê°ªrÒ ´×âgÖ OÆ°? î¥ ´¿õ¿ÏÀê°ªrÒÑ ¿ßª±ªºªn×â kâr¦ ¾±ª|â×âÈ×â° ÆÀâîªkâªÚ. 
Èá{Ö

   (²) O O ¿ßª{âpâVÈÈ¨ ~ß×â°Q ÀÖ~ß¿ß° OpâRvâ°yâ°ª{¨ {Ö¾Ñ gâÈ dÖpâÇéÈ° yê¶Ä ~ß×â°Q ÀÖ~ß¿ß° 
 káÎâ°vÖ¾Ñ gâÈ ~ß{âP»¾ ÆÀâîªkâªÚ. 

6. (U)  UdêôbmÒ ¿ß°ªdâÀâ°° ´×âgÖ OÆ°? UdêôbmÒ ¿ß°ªdâÀâ°°È¨¾ ÆÆ|â pâdÖÈ×â° ÆÀâîªkâªÚ.  
Èá{Ö

    (²) ~ß×â°Q Æºª~ß±vá ¿öÀâÈ° ´ªrá OÆ°s? ~ß×â°Q Æºª~ß±vá OÀêô×Ö Àâ°Ãévâ° ¿öÀâÈ×â° 
     I{ÖÝßépâÇÈy¨ ÆÀâîªkâªÚ. 

*****
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